
=

=

=

= REVISED -

-

-

-

REVISED

REVISED

REVISED

              

              

              

              

NO.
SECTION COUNTY

ILLINOIS FED. AID PROJECT

 55    LOGAN   

TOTAL

SHEETS

SHEET

NO.RTE.

CONTRACT NO. 72E11

STATE OF ILLINOIS

DEPARTMENT OF TRANSPORTATION

F.A.I.DESIGNED -

-

-

-

   

TJD

CHECKED

DRAWN

CHECKED AAN

JOB

FILE

DATE

2265.2 AAN

0540060_0061-72E11-32-FingerPlateJointDetails.dgn

SHEET NO. 32 OF 53 SHEETS

 5/16 

S
to

o
l 

H
e
ig

h
t

(S
e
e
 T

a
b
le

)

 1/2 " ‘

 3/4 " x 10" ‘

~ 2" } Holes

~ Stool

10"

5"2 1/2 " 2 1/2 "

SECTION THRU STOOL

FINGER PLATE EXPANSION JOINT DETAILS

 3/4 " x 6" Studs, typ.  3/8 " } Countersunk Bolts, typ.

3" 1’-0"

1’-6"

6"

8"

1’-0"

3"

2"

2 7/8 " @ 50^ F.

INSIDE ELEVATION OF PARAPET AT JOINT

 1/2 "

T
ro

u
g
h

S
p
li

c
e

S
p
li

c
e
 M

a
t

 1/8 " Fabric reinforced

elastomeric flap splice

1’-0"

6" 6"
 3/8 " } Stainless Steel bolts

w/ washers & nuts.  Provide

brass grommet in trough.

~  1/2 " x 6" plate

full length of

trough

2"

typ.

TROUGH SPLICE DETAIL

D6 LOGAN CO BR 2011-1

1 
7/

8 
"

 9/16 "

 5/16 

1’-0 5/16 "

2" 3"

~  3/4 " } Vent Holes

 5/16 

 5/16  5/16 

1 
7/

8 
"

3" 3"

 1/
4 "

 1/2 " ‘

S
to

o
l 

H
e
ig

h
t

(S
e
e
 T

a
b
le

)

 5/16 

3" 3"6"

~ 2" } Holes

V
a
ri

e
s

6
"

S
to

o
l 

H
e
ig

h
t

(S
e
e
 T

a
b
le

)

2
’
-
2
"

 1/2 " Bent ‘ Varies 5 1/2 " 2 1/2 "

~ 2" } Holes

 5/16 

3
"

3 1
/4

 "

1’-0 5/16 "7 1/4 "

2"3"

~  3/4 " } Vent Holes

 9/16 "

 3/4 " } x 8" Granular or solid

flux filled headed studs

conforming to Art. 1006.32

of the Std. Specs.

STOOLS DETAIL

DETAIL 1

Shim as req’d. for

stool height adjustment

End Cross

Frame

Finger Plate

 3/4 " } x 8" Studs

Note:

All   3/4 " } Studs shall be granular

or solid flux filled headed studs

conforming to Art. 1006.32 of

the Std. Specs.

~ Girder

Stool

 3/4 " } x 6" Studs

Inside Face

of Parapet

Sliding Plate

1
’-

0
"

3
"

2
"

Note:

For stools supported by girders and cross frames

provide  1/4 " normal shim plus one  1/8 " and one  1/16 "

shim for height adjustment.

ITEM UNIT TOTAL

BILL OF MATERIAL

Foot 133Finger Plate Expansion Joint 4 1/4 "

SN 054-0061 (E Abut. NB) = 64 Foot

SN 054-0060 (E Abut. SB) = 69 Foot

12/18/2012

7 1/2 "

2 7/8 "

@
 5

0
^
 F

.

2 7/8 "

FINGER PLATE SETTING DIAGRAM

3"3" 6"

~  3/8 " } Countersunk Bolts
3 1/2 "

@ 50^ F.
 3/8 " ‘

 1/2 " ‘

 3/4 " ‘

 3/4 " } x 6" Studs, typ.

HORIZONTAL SECTION OF PARAPET AT JOINT

9 
5/

16
 "

42^11’13"

2
’-

8
 7

/1
6
 "

1
’-

0
 7

/8
 "

 3
/8

 "

1
’-

0
 7

/8
 "

 3
/8

 "

6 
11

/1
6 

"

4 1/4 "

6 
5/

16
 "

 3/8 "

typ.

 7/8 " R
ad.

ty
p
.

1 1/4 " R
ad.

ty
p
.

1’
-7

 3
/1

6 

8
 1

/2
 " (F

in
g
e
r L

e
n
g
th

)

FLAME CUTTING DIAGRAM

Cut from ‘ 1 7/8 " x 2’-8 7/16  x 70’-8 1/8 " (SB)

Cut from ‘ 1 7/8 " x 2’-8 7/16  x 65’-5 3/4 " (NB)

~  3/4 " } Vent Holes

at 12" cts.

Trough Splice  3/8 " } Stainless Steel bolts

w/ washers & nuts.  Provide

brass grommet in trough.

Splice Mat

SECTION THRU TROUGH SPLICE

 1/2 " x 6" ‘

Abutment

Backwall

1’-6"

1’-6"

min.

 3/8 " } Stainless steel

expansion bolts

 3/8 " } Stainless

steel bolts
4"

4"

 1/4 " x 2"

Galvanized ‘

Fabric reinforced

elastomeric trough

END OF TROUGH DETAIL AT ABUTMENT

**

** min. slope  5/8 "/ft.

SECTION B-B

Drill 1" } holes in

stools for transverse

reinforcement, typ.

Back of

abutment

Silicone sealant along

trough and abutment

backwall (full length)

 3/8 " } Stainless steel

expansion bolts @ |18" cts.

See End of Trough Detail.

Length = 1’-10"

Fabric reinforced

elastomeric trough

See Section 520

of the Std. Specs.

5 3/4 "

 3/8 " } Stainless steel bolts

w/ locking washers & nuts.

Provide brass grommet in

trough.

 1/2 " x 6" Plate full length

of trough, typ.

2- 3/4 " }

H.S. Bolts

Fabric reinforced

elastomeric side flap

Use plate as template for drilling

holes in abutment backwall.

*

6
"
 m

in
.

 3/8 " } Studs @ 18" cts. w/ locking washer & nut

automatically end welded. Provide brass grommet

in side flap.

3
"

* 1/4 "x2"

Galvanized ‘

(Full Length)

6" 3"

1 1/2 "

3
"

6
"

{-4" x 4" x  1/2 "

 1/2 " Plates

Full length

1 
7/

8 
"2" 3/4 " } Vent holes

@ 12" cts.

6
"

2"

3 1/2 " 7 1/4 "

1 3/4 "1’-0 5/16 " 1’-0 5/16 "

~ Finger Plate Joint

Stool

4 
1/

2 
"

m
in

.

(At Right Angles to Bk. of Abut.)

Horizontal dimensions are at 50^ F.

5 11/16 "6"

 3/4 " } x 8" Granular or solid

flux filled headed studs

conforming to Art. 1006.32

of the Std. Specs.

Shim ‘

4- 7/8 " } x 1’-6" Anchor bolts.

Provide nut & 3" x 3" x  3/8 "

square washer top & bottom

of each bolt. 2" } holes in

stool flange. Thread bolt 6".

10 3/4 "

9"

4- 3/4  } H.S. bolts each connection. Provide nut

and 3" x 3" x  3/8 " sq. washers at each bolt.

2" } holes in stool flange. (Field Drill  15/16 " holes in cross frames)

 1/8 " Fabric

Reinforced

through Splice

429 262




